
Question 12.1: 

Mention the hybridisation states of each carbon atom in the following compounds 

Answer 12.1. 

(i) 
('H, = C' = O 

C-1 is sp2 hybridised. 

C-2 is sp hybridised 

(ii) r· H, c'tt = c· Ii, 

C-1 IS sp3 hybridised. 

C-2 is sp2 hybridised 

C-3 IS sp2 hybridised. 
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C'll i-("-(11, 

(iii) I ' > 

C-1 and C-3 are sp3 hybridised. 

C-2 is sp2 hybridised. 

I � \ 

(iv) CH, = C H C • N 

C-1 is sp2 hybridised. 

C-2 is sp2 hybridised. 

C-3 is sp hybridised. 

All the 6 carbon atoms in benzene are s,
l hybridised. 

Question 12.2: 

Indicate the u and TT bonds in the following molecules: 

Answer 12.2: 
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